VT =30 ANy ) - MR EE

No.
20244F 4 H

1H

st k=
J B2 YR LR R AR S Jos BT 5 SL56 775

aHmE A FFEC WO
T~ F % ™
3 1£ Hh
WA T T R -
ﬁﬂié@ﬁﬁ%%Wﬂ%ﬁgigﬁﬁma IOHIIH~11H20H ZF2UA ORI I3H S sk
2/ ) =h DFTIA T {4
Aic = ) B4 &t ES Gs
2/7) N2 wpokangE (Y7 XAFATVT e MM ORI |t PO
WO | RRBEIC L DR < cm mm IZ K DS
P ] 27 12 20 BB
fﬂliéfé\ * X v b © K MO RE R HE M o & K Tk MO RE R
S ; Sl ) 21 7’/1/77)/17‘J}iﬁi BB
BRSO HRZ L DXy AR B I GRS RE)) - OB ABEE — kg/md
e Ko K H[ FEAMECER (=3 v 7 U — o i - el —C
iEAE %En%ﬂﬁ*ﬂr@@i:é&tﬁﬁﬂ%% i BB OE & I Geal K A > B Eeo BEEEO _FIR 55 %
SEM L W & A R 0.30 ke/md UL F [ WAL ARk 0 F AR 0 L It — ke/m
- @U%ﬁf%%.&@“éwﬁ“ 28 H Bt/ 20 BEEO TR EEED LR — ke/md
zz = & 4. 5%|REMEIBE D A T o I RKE — cm
fif H 1z Bt
ﬁ%v/ﬁﬁﬁiﬁéktiﬁﬁf/hﬁﬁAﬁ [ g/ci | 3.04 NasOeq % | —
(m*ﬂ*ﬁ@ g s — T 3 —  |Naz0eq —
=8 5 . - Ty MiF ML AR PRI K & & BRI L | B o/en |H0RES) i@
e, TEOH B X iR W RBE O | W W R %
O TR T I IR LR BR AL TS [ WT 4 5 ALSHIE SmmA T 2.70 — |2.54 —
B|©@) fehb 22 i I\ TR AlELZ LR —1E il T 2.90 — |2.63| 7.0+2.0
Z1®) — — — — — — — | - —
D — — — — - — | = —
%®E¢E ZEEH m/\%ﬁmrﬁm AELH LR —1E13~5mm 6. 30 — ]2.69] 1.0*1.0
@ _ _ _ _ _ _ _ _
@R et A vl AFEL & LS —E20~13mm 7.05 — | 2.70| 1.0%x1.0
RFAO YAB=VAY 27150 AEJBKA BEYEFE (1 fE) Na,Oe 0. 02
& i A @ 54, = T 55 - i,/ K —
R SEO) — — ? —
BHOEEmE  [D0.000% KOXSy k- Flk (LBK) | BAErTyY o | — %
WUSCEM O [ — BB — LA T v OKOEHD -
e A& 0 * ke /mi
. ® M | = izl HL = iz IR fn Vall
+
e Te XAloTe e oo e @l 0 © [ ©
336 — — 173 | 500 | 333 — — 329 — 611 | 2.69 — —
K€ A2 b 51.5 % | K fif & B M — %[ 48.1 %
% ﬁﬂ%{”th%ﬁ%ﬁ():C) 60 : 40
i (EERS [ HEHD : @ 65 : 35
B OEERAE S, IBRAOMEHEIZ SV T, ﬁ@@b IEETIHLEND D,

EERERER A & LRI 35 A oM,
HEW6H21H~9H10H CX1.0%.

ERFIOQO N EDOHREE N LE T,
AMAIIH21H~3H31H €X0.6%




Bl A& B B OE
Aic = D B4 it ES Gs
VAN O #7277 XAEA707" Te—| ME M D e K ~TE A/ DFEE
NNy ?ﬁ*ﬁ WK Dl E — cm mm WX D
S i} 27 12 20 BB
%‘éjj? * X v b © M M MO Geidk W E M o & K & FEOVS R GEd
% | , L 1~ =1 TRV Y R BB
EZE M o BOE EAMEECRE e w4 p -
BRSO HRZ L DXy AR B I FEER RE)) - OB ABEE — ke/md
e 7K D X i) i B EHR L Rk o7 U — bk oR ERES - xEK —C
EAE %E'ﬁuﬁ*ﬂr@@iﬁ&tﬁﬁﬂ%% i BB OE & I Geal K A > B o BEEEO _F[R 55 %
SEME kB & A & 0.30 ke/n L F [ Bz K ik & H B L0 L R — ke/ni
= @U%ﬁf%%uﬁﬁ“éﬁfﬁ“ 28 A |Bfrti/ 0 BEED TRXLEEED LI — ke/nd
72 £ & 4.5 %|FREMEE DR T T K& — cm
(1) ZEhet(v) YTHOEREICEY v = 10 %
(2)E A58 (m)
mi = I.S%v = 33.8 N/mf
1 p— & v
100
X->T m = 33.8 N/mf
(3)KkEAV FEE(W/C) m = -11.8 + 23.5 X C/W
W/C = 23.5 + (33.8 + 11.8) X 100 = 51.5 % = [55% ( F-FRfE) ]
SW/C = 51.5 %
(4) HfrK & (W) WTHOFERKICEY W = 173 ke/mi
(5)HfSrE A F&E(C) C =W+ (W/C) X 100 = 173 = 51.5 X 100 = 336 kg/m
Cv= C +%<rg:336+3.04:111 £ /m
(6) 7558 (A) A = 4.5 % X 1000 = 45 £ /m
(7T)EM=E(s/a) MTHEOFEEICEID s/a = 48.1 %
() WA MHIEME(S) Sv = (1000 — (W+Cv+A)) X s/a = 671 X 48.1 % = 323 #¢/m
S = Sv X i%;izz‘w}f;% = 323 X 2.58 = 833 kg/m
S1 =S X 60.0 % = 500 kg/m
S2 =S X 40.0 % = 333 ke/m
(9) BHALH M & (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 652 = 348 2 /m
G = Gv X EEEE = 348 X 2.70 = 940 kg/mi
Gl =G X 350 % = 329 keg/m
G2 = G X 65.0 % = 611 keg/m
(10) BArRFfAE (Ad) Ad = C X WHIEE X 2 = 336 X 0.8 % X 1.00 = 2.69 kg/m
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